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Mon 13th 
N-S
1st
Mike G & Royd
59%
2nd
Bengt & Lars B
58%

E-W
1st
Terje Lie & Rolf
64%
2nd
Arin & Kierchai
57%

Wed 15th  N-S
1st
Tomas & Lars B
55%
2nd
Bengt & Lars G
54%

E-W
1st
Robbie & Ivy
59%
2nd
Coutelet & Duplessy
59%

Fri 17h  
N-S
1st
Terje Ly & Chris
60%
2nd
Bob P & Robbie
57%

E-W
1st
Coutelet & Duplessy
58%
2nd
Hans v & Bam Bam
57%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A you open 2♣ and partner bids 2♦ (waiting),
what do you rebid?
♠ AQJ
♠ J42

♥ Q
♥ A732
With Hand B partner opens 1NT.  (a) What do you bid?
♦ A87
♦ Q107
(b) Suppose you choose 2♣ Stayman and partner bids 2♥, 
♣ AKQ1086
♣ K54

what do you bid now?

Hand C
Hand D
With Hand C partner opens 1♣ and you bid 1♦. Partner then

bids 2NT (18-19 balanced). What do you do?

♠ 10843
♠ KQJ9


♥ A105
♥ K32
(a)
What do you open with Hand D?
♦ Q962
♦ K4
(b)
Suppose you open 1♣, what do you bid when partner bids 1♦?
♣ 107
♣ KQJ9
(c)
What do you open if playing Acol?

Bidding Sequence Quiz
E
1NT
pass
2♣
pass

2♥
pass
3♦

What is 3♦?
Finding the 4-4 major suit fit.



Board 9 from Wednesday 15th Dec
One of the basic requirements for any bidding system is the find a ‘golden’ 4-4 major suit fit. I note that three pairs failed on this deal, and in my opinion it is because they are not using their chosen bidding system correctly.

Dealer:
♠ A62



Table A
North
♥ QJ76

West(C)
North
East(D)
South
E-W vul 
♦ J83

-

pass

1♣
(1)
pass

♣ 653


1♦
(2)
pass

2NT
(3)
pass

pass
(4)
pass
♠ 10843

N
♠ KQJ9


♥ A105
W
E
♥ K32

Table B
♦ Q962
S

♦ K4

West(C)
North
East(D)
South
♣ 107


♣ KQJ9


-

pass

1♣
(1)
pass

♠ 75



1♠
(2)
pass

4♠
(5)
all pass
♥ 984





♦ A1075



♣ A842






Table A:
(1)
What did you open with this East hand D(a) in this week’s quiz? The hand is far too good for 1NT and 1♣ is clear when playing a 5-card major system. And what did you Acol players open? Modern Acol is very clear here – open a 4-card major in preference to a 4-card minor, so 1♠ with this hand. Two established Acol players opened 1♣ and we’ll see what happened.
(2)
It’s up to your partnership understanding if you bid 1♦ or 1♠ with this hand type. Most tend to bid ‘up the line’ and so 1♦ is OK.
(3)
What did you bid with this East hand D(b) in this week’s quiz? I had a similar article about this just last week and 2NT is correct. It shows the balanced shape and strength and may well have a 4-card major.
(4)
What did you bid with this West hand C in this week’s quiz? With 6 points and three tens you want to be in game, and since partner may have four ♠’s then 3♠ is better than 3NT.

But this exact sequence with a pass here was duplicated at two tables where they played Acol: Playing Acol in their style the 2NT rebid was 17-18 and so both West’s decided to pass. It’s close, but this dilemma would have been avoided and the ♠ fit found if East had opened correctly with 1♠ when playing Acol.
Table B:
(1)
Playing Standard American a 1♣ opening is obvious.
(2)
I like to play ‘Walsh’ and will bid the major immediately with a weak hand opposite a 1♣ opening. So I bid 1♠ rather than 1♦ with this weakish hand.
(5)
Now it’s easy for East to bid the game (or a pessimistic 4♠).

And what happened? Only one pair bid 4♠, which should be easily reached in SA or Acol. Results were 4♠=, 3♠+1, 3♠-1, 3♠=, 2NT+1 twice and 1NT+2.
The bottom lines:

· 4♠ makes, but needs careful play on a ♥ lead. But everybody should find the ♠ fit with these E-W cards, and bid game if they choose: -

Playing Acol:

1♠  2♠  4♠

Playing basic SA

1♣  1♦  2NT  3♠  4♠

Playing SA ‘Walsh’
1♣  1♠  4♠
Responding ‘Up The Line’ to partner’s 1♣ opening?

So what’s best with a hand like Hand C? I like to play the Walsh treatment where you bid a 4-card major in preference to a 4 or 5- card ♦ suit when the hand is worth only one bid. There are some great advantages of playing Walsh and the one shown here (if opener responds 2NT when you chose to respond 1♦ with a very weak hand) is just one of the advantages. If you have a hand with invitational values or better then you can bid up the line safely.

Current club championship standings
	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20


	1937.0 Hans Vikman
1929.6 Janne Roos
1870.1 Paul Quodomine
1815.2 Tomas Wikman 
1758.9 Lars Broman
1758.8 Guttorm Longberg
1755.1 Jan Chris v Koss
1751.1 Bengt Malmgren
1737.5 Paul Scully
1734.8 Johan Bratsburg

1726.4 Mike Guin
1711.3 Bob Pelletier
	682.9 Hans Vikman
678.6 Janne Roos 
655.7 Tomas Wikman
643.5 Paul Quodomine 
641.6 Sally Watson
631.5 Jeremy Watson 
629.1 Alan Kleist
628.9 Derek & Gerard
628.5 Lars Broman 
627.6 Sean Burgess

625.6 Jean Wissing
623.3 Jan v Koss
618.1 Johan Bratsburg
617.6 Duplessy & Coutelet
617.3 Guttorm Lonberg
614.2 Bob Short
613.2 Paul Scully
613.1 Tonni Kjaer 
608.8 Bengt Malgren

608.5 Sigurd Zahl
	354.8 Hans Vikman 
351.4 Janne Roos
341.8 Tomas Wikman
331.5 Sally Watson
327.5 Derek & Gerard 
327.4 Jeremy Watson
326.8 Lars Broman 
326.4 Paul Quodomine
325.6 Sean Burgess
325.1 Jan v Koss

325.0 Alan Kleist
323.8 Tonni Kjaer
321.4 Jean Wissing 
320.2 Duplessy & Coutelet
318.4 Sigurd Zahl
318.1 Bob Short

314.2 Niels Krojhaard
314.1 Guttorm Lonberg
313.8 Johan Bratsburg
312.0 Paul Scully




Jump to 3NT with 4333 shape?


Board 16 from Wednesday 15th Dec
Dealer:
♠ Q1065



Table A
West
♥ 98

West

North
East

South
E-W vul 
♦ 954

1♥
(1)
pass

2♥
(2)
pass

♣ Q1062


3♣
(3)
pass

4♥

all pass
♠ 73

N
♠ J42

Table B
♥ K10654
W
E
♥ A732

West
North
East(B)
South
♦ AK8
S

♦ Q107

1NT
(1)
pass

2♣
(4)
pass
♣ AJ9


♣ K54


2♥

pass

3♦
(5)
pass

♠ AK98



4♥
(6)
all pass
♥ QJ





♦ J632



♣ 873





Table A:
(1)
A 1NT opener is an alternative.

(2)
With this totally flat shape the hand is not worth 3♥, even with four trumps.

(3)
A help-suit game try. 
Table B:
(1)
This West chose to open 1NT, fine.

(4)
What did you bid with this East hand B(a) in this week’s quiz? Some believe that with 4333 or 3433 and sufficient points for game, you should simply bid 3NT. I disagree and would bid 2♣ with this hand, looking for a ♥ fit. 
(5)
What did you bid with this East hand B(b) in this week’s quiz? 4♥ is pretty obvious but there is a useful conventional bid, well established but seldom played these days. In its original form 3♦ here is Stayman in Doubt (SID), stating that responder is exactly 3433 and asking partner to bid 3NT if he too is exactly 3433. 

(6)
Showing a 5-card ♥ suit when playing ASID.
And what happened? Everybody correctly played  in ♥’s of course.
The bottom lines:

· I disagree with people who automatically jump to 3NT opposite a 1NT opener when 4333 or 3433 (unless you have enough points to think that there are exactly 11 tricks). Remember, you may be totally flat but partner’s 1NT opener may not be, and with more advanced bidding treatments there are ways to find out:
· The original SID convention has been improved – Advanced SID or ASID convention, described on the website and in the NoTrump book. It enables you to play in 3 of the major or 3NT when your 4333 or 3433 shape is duplicated by partner’s 1NT opener.
Dave’s  Column

Here is Dave’s 1st problem this week, on defence.
♠ 72
N

West

North

East

South
♥ AQ5
W
E

1♣

2♠

pass

4♠

♦ A10
S

all pass
♣ A97532





♠ Q1095

 


♥ K109
You are West, defending 4♠. East  leads the ♣J which 
♦ KQJ94
 you win with the ♣A, declarer playing the ♣Q. 

♣ K
Plan the defence.

Dave’s Column Answer




Board 20 from Wednesday 15th December 
Dealer:
♠ AKJ843



Book Bidding
West
♥ 764

West

North
East

South
both vul 
♦ 832

1♣


2♠

pass

4♠

♣ Q


all pass
♠ 72
N
♠ 6


♥ AQ5
W
E
♥ J832


♦ A10
S
♦ 765

♣ A97532


♣ J10864


♠ Q1095

 


♥ K109


You are West. East leads the ♣J which you 
♦ KQJ94
 
win with the ♣A, declarer playing the ♣Q. 
♣ K


Plan the defence.
With those ♦’s staring at you from dummy and declarer very likely to have the ♠AK, the only real hope of defeating the contract is to play partner for the ♥J and lead a low ♥. If declarer has at least three ♥’s, you can cash two ♥ tricks after you come in with the ♦K.
And what happened at the Pattaya bridge club? Not surprisingly, nobody found this defense. 4♠ = five times, 5♠ -1 and 5♣*(W) =.
Dave’s  2nd Column



Here is Dave’s 2nd problem this week.
North
South


West
North
East

South
♠ 843
♠ AQ62


-


pass

pass

1NT
♥ J2
♥ A108
pass
2NT

pass

3NT
♦ 54
♦ AK10
all pass
♣ AJ10864
♣ 975

 


You are South, declarer in 3NT. West leads the ♠J and East plays the ♠K. There are two questions for you. Answer the first question before looking at the second. 

1) Do you win the first trick?

2) You should win the first trick (you don’t want a ♦ switch as you might have to let the opponents in twice in ♣’s). You should then lead a ♣; West plays the ♣K, do you take the trick?
 

Dave’s 2nd Column Answer




Board 20 from Wednesday 15th December 
Dealer:
♠ 843



Book Bidding
North
♥ J2

West

North
East

South
N-S vul 
♦ 54

-


pass

pass

1NT

♣ AJ10864


pass

2NT

pass

3NT
all pass
♠ J10975
N
♠ K


♥ Q953
W
E
♥ K764


♦ J97
S
♦ Q8632

♣ K


♣ Q32


♠ AQ62

 


♥ A108


♦ AK10
 
♣ 975


You need four ♣ tricks so if you duck the first ♣ trick you cannot go down. If you win the first ♣ and West started with a singleton ♣K (or ♣KQx) then the defence will duck the next club, win the third round and you are held to two ♣ tricks.
And what happened at the Pattaya bridge club? 3NT+2, 1NT+1 twice, 1NT=, 4♣+1, 3♣+2 and 3♣+1.
Bidding Quiz Answers
Hand A:
3♣, pretty obviously. I mention this West board 7 from Friday not just to fill up some space, but because I witnessed a relatively experienced player bid 5♣. This is a very poor bid as it goes past 3NT and makes it difficult for partner to judge if there is a slam. 3♣ is game forcing, so don’t squander bidding space when there may be a slam.
Hand B:
(a)
2♣. I totally disagree with those who jump to 3NT with this sort of hand.

(b)
4♥, pretty obviously. That is unless you play the  ASID convention where 3♦ asks partner for shape/strength and if he too is exactly 3433 shape you can then elect to play in 3NT. 
Hand C:
3♠. With no agreements about what 3♣ or 3♦ would mean, bid 3♠. This is better than 3NT because partner may have four ♠’s.

Hand D:
(a)
1♣. It’s much too strong for 1NT of course.

(b)
2NT. This shows the balanced 18-19 and may have 4 ♥’s or 4 ♠’s.

(c)
1♠. Acol is a 4-card major system and in the modern style a 4-card major is opened in preference to a 4-card minor. See the article for what happened when this hand was opened 1♣ when playing Acol.
Bidding Sequence Quiz Answers
E
1NT
pass
2♣
pass
3♦ here is generally played to show 5+ ♦’s and a four ♠’s.

2♥
pass
3♦

I personally do not like this treatment and prefer the SID convention (Stayman In Doubt) asking if partner is exactly 3433; or actually the improvement ASID (Advanced SID) which asks partner for strength/shape.
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